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Editorial: Yu.N. Ivanov discovered a new unusual
physical phenomenon that is a gravidynamic paradox.
The sense of the paradox is the existence of the situation,
which is not forbidden by physical laws and which
allows any man (even a child) easily hold suspended or
carry things with 100kg or more weight by means of
some simple device. This phenomenon is just a part of
the significant applied topic and a demonstration of the
possibility to cancel weight characteristics of any
material object. Per se it is a work on the obtaining of
the methods to eliminate aircrafts weight.

We can use only resistant things as a support!

Galilee-Newton's Laws are in the basis of classical
mechanics. Thought concerned fundamental, these
laws do not explain the main thing, i.e. the internal
processual essence of the phenomena, described by
them. There is another scientific line — the quantum
mechanics, which tries to discover the essence of deep
processes. There is no connection between these lines,
therefore they as if exist independently. There are also
long-time conversations about necessity to combine the
quantum and the classical approaches. We suppose,
that practically the combining has already happened,
since thanks to rhythmodynamics, there appeared
phase, frequency and velocity of light in formulae of
classical mechanics (without these attributes the
quantum mechanics is impossible). It was revealed, that
phase-frequency method of late mechanics formulae
presentation gives a real physical sense both to
formulae themselves, and to concepts which seemed
vague before (namely: cause of motion, force, velocity,
inertiality, gravitation). In this sense, the upcoming
rhythmodynamics fills up the gap between the main
physical lines and draws them together. But let's
change the vector, since the subject of the given article
is to concern cases in which the third Newton law is
not directly valid.

Newton formulated the third law in the following way:

“Action always has equal and opposite interaction, in
other words, actions of two bodies on each other are
equal and directed in opposite sides”.

This law represents the fact that one-way action of one
body to another cannot exist in nature, but there is only
an interaction between them, i.e. there is no action
without reaction [1].

We must note, that the third Newton law is valid only
for systems with 100% feedback, appeared in the
interaction period. For example, during the magnet
influence on the iron object it is revealed, that this object
also starts to influence upon the magnet, i.e. to attract
it with the same force. It happens because in the period
of action of magnetic field the iron object itself becomes
the source of magnetic field (Fig.1). Here the magnetic
field, as an especial environmental condition, acts as a
mediator, i.e. exists by itself in the interval between
object and magnet .

Fig. 1

Interaction of magnet and metal body M. Here the action is equal
to reaction, i.e. the third Newton law is valid.

It is considered to be that magnetic field, created by
electric current, spreads with the velocity of light. If
current impulse is short, then the magnetic field spreads
independently from the conductor and no matter if there
is current in the conductor at present, or not. If the
distance up to the object is big, then the magnetic field
remains between source and object for some time, and
has no influence upon the object. In this sense the
portion of magnetic field, placed on the path between
source and body, can be considered as moving
independent “entity”, i.e. the space by means of itself
carries its changed state (magnetic properties) from one
place to another. In this period magnetic properties in
the form of quantum can influence neither on the source,
from which the magnetic quantum is already detached,
nor on the object, which the magnetic quantum still
does not reach.

But having reached the object, magnetic field changes
the state of this object. If as the result of influence the
object becomes a source of magnetic field, then the part
of the field is reradiated in the direction of source, i.e.
the object itself becomes the source for some time, and
by this it is able to influence on the first primary source.
In this situation the principle of action and reaction
works, because the feedback takes place.

If the feedback does not appear during the period of
influence of one body to another, then the action and
reaction law is not valid in the system. Let's
demonstrate it by the example of the mechanical
experiments, in which there is a feedback between
objects.
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Let there is a device (Fig. 2), which throws off two water
(air) streams in the opposite directions in such a way,
that reactive forces completely compensate each other.
At that the thrown down stream compensates the
gravity too. In this case the device will fly without
falling, i.e. it will have zero weight.

P, =10kg
weight of the ball

weight of the node
is zero

Fig. 2

The ball, suspended in the water stream, does not put pressure
on the source. It happens because there is no feedback
between the ball and the source. If you have such a device,
then, lifting the ball by means of it, you will not feel the weight
of the ball. The reason: the ball hangs due to the kinetic energy,
which the stream passes to it and and this ball can not
influence on the source through the water stream.

The appearance of the ball with the weight P, does not
influence on the weight P_ of the device. And even in the case
if we press the ball down, i.e. essentially displace its location
in the stream, the device will feel nothing.

The absence of device weight is evident for us; therefore
we can easily move the device if its original (vertical)
orientation remains unchanged.

Let’s change the situation and place the ball (body with
the shape, which is steady for hanging) in the upper
stream. This ball with the weight about 10 kg is placed
in a way to be kept by this stream at some distance, for
example at 0.5 m. Will the device react on the changed
situation, i.e. on the ball appearance? Will the weight
of the ball, hanging in the stream, be added to zero
weight of the device (0 + 10 kg)?

The calculation shows that it will not: XP=0+10= 0 [kg].
There is only an illusion that the ball is supported by
the stream and that it is a part of the system. As a matter
of fact, the ball is detached from the system and hangs
due to the water kinetic energy. It is easy to check it by
making an experiment in a bathroom: “Remove the
douche sprayer, then direct the stream up and holding
it by the one hand with the aim of weighting, try to
influence on the source by the other hand through the
stream. You will be surprised to feel that the hand, which
is supported by the stream or any object, which is
hanged in the stream, does not influence on the source”.

At first sight the situation seems to be a paradox,
however it very illustrates the possibility of the force

action without reaction. So, the action can be one-way,
i.e. calling no reply reaction in the form of pressure on
the action source.

In such an unusual way it is possible to keep the ball of
bigger weight (100 kg and more), at that to move it
easily by means of the device and at the same time not
to feel the presence of additional weight in the stream.
It is possible only in the case when there is no
feedback between body and source, i.e. the body,
hanged in the stream, has no ability to act on the force
source. Thus, we can both hold and move the heavy
ball without additional efforts, and also lift it up to any
height (for example, 100 m). As a matter of fact, we
deal with the new gravidynamic paradox.

It is interesting then, how to solve the task of the
following type: “Let the body with 100 kg weight is
hanged in the water (air) stream in such a way, that it
does not change the velocity and direction of liquid
outflow from the source nozzle. How much energy the
operator must spend to lift this body to the height about
10 m?” (Here it means that the operator must take the
device, which supports the ball, and, moving upstairs,
lift the body, which hangs in the stream, by means of
this device to the height about 10 m). If to solve this
problem correctly (the condition is that the operator lifts
himself together with the device and the ball), we will
find out, that operator’'s energy is spent only for lifting
of the device, which creates water streams. The
operator, lifting together with the device, will not even
notice that in the stream there is a body with about
100 kg weight (this is the sense of the paradox).

The situation only seems to be absurd, and even
paradoxical for theorists, but it is not a hopeless one.

We can also observe the effect of action without reaction
in ultrasonic field of the source. If the source is fixed on
scales (Fig.3) and body is hanged, as it was made in
the stream, the scales will show only the precise weight
of the source and will not react on the weight of the
hanged body, no matter how heavy it is.

Fig. 3

The ball, made of the special absorbent
material, hanged in the powerful
ultrasonic field, does not put pressure on
the scales. It happens because of the
absence of feedback between the ball,
which has changed its state, and the
radiation source. If you have such
ultrasonic device in your hands, then
lifting the ball by means of this device
you will not feel the ball weight.

Ultrasonic generator

Special absorbent (silencer)
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The experiment of such type was made in one of the
secret institutes. Water was used as an acoustic
environment. The heavy ball easily floated up from the
vessel bottom i.e. it behaved as if it had no weight.

The similar phenomena but such of the other
organizational level, sometimes become apparent in
nature. The phenomenon has its very name because
the event happens unexpectedly and is not analyzable
through laboratory research [3].

“A spherical ball lightning about the size of a football
ball flew over a village Galtsovka of Altaisky Krai at a
height of twenty to thirty meters. The first shed in its
way, with ferroconcrete poles, was crushed and
collapsed. Flying over a slated house, the ball lightning
tore away the roofing slate together with nails, raised
it into air and pulled it along, scattering its parts all
over the village. Flying over a tractor station, the ball
lightning crushed a frame, welded of metal angles and
covered with tarpaulin. On the approaching of the ball
lightning to another frame, it was at first dragged along
the ground, and after the ball lightning had passed it,
the frame was lifted and carried at a distance of
300 meters. The weight of the frame was no less than
100 kg”.

Further the author analyzes the situation from point of
view of the known physical laws: “The frame of
hundreds kilograms weight was carried by fields of the
flying ball lightning. However, for some reason the ball
lightning kept on flying straight and did not note that
some metal frame was caught to it. If the ball lightning,
as it is usually considered, has a density of air and it is
a weightless formation, then why the frame with the
weight not less than 100 kg could not change its flight
trajectory even in some extent?”

It draws attention that in some cases the ball lightning
field pushed objects away, and in other cases it
attracted them. It can be explained only by fact that in
each case the ball lightning field specifically influenced
on internal properties of objects, and then objects
themselves somehow reacted on their new state (they
changed their motion) . The feedback absence (in other
way it happens between magnet and iron object) allows
the ball lightning not react upon the things, which take
place in its field. If these objects themselves became
sources of similar field, i.e. reradiated it, they would
influence on the ball lightning trajectory. Most likely,
in the given case, there was realized the situation
when action caused no reaction.

Conclusions

In the context of known physical laws the particular
problem of direct action without feedback was
formulated and solved. The solution of this problem
provides deep understanding of how to control weight
characteristics of material objects in open systems. As
it was shown by the example with water (which is only
an illustration of more fundamental processes) we can

“deceive” the nature, but only through the deep
understanding of the processual character of the
concerned events.

By the example of ultrasound we show, that in principle
there can exist such field flows, which are able to
influence on bodies without the feedback effect. There
were defined some conditions and criteria of bodies and
methods of influence, at which the third Newton law is
not directly valid (it is not published in this article).

The described type of influence can be called as
pressure. But during consideration of processes at
atomic or deeper level, i.e. from the position of
rhythmodynamics, we find out something of another
kind, that is phase-frequency one. It prompts to us, what
kind of technologies will exist and how our aircrafts
will look in nearest future. But not everyone is able to
understand it at once.
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Comment

In the gravitation field we have a balanced open system,
in which appearance of the new body at first sight must
cause this system reaction such as weight increase.
However, this is not the case.

The given problem is solved in two independent steps:

1) examination of interaction between water source and
water (reactive effect, which is compensated by counter
flow);

2) examination of interaction between water, detached
from the source, and the body (unit time impulse per
unit area).

It is impossible to examine the interaction between the
source and the body because water has no rigidity.
There are no means to influence on the source through
the intermediate stream, therefore the principle of action
and reaction is valid for each step individually, but not
for both! But in this case the third Newton law must be
developed as following: “If there is a 100% feedback
between two bodies, their interactions are equal and
inversely directed. And if there is no feedback, the action
of one body to another causes no reaction, i.e. the action
is not equal to reaction”. And this is already another
law!
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